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Exponential Functions Study Guide
| can apply exponential functions to real world application

You buy a car for $40,000. It depreciates 14% per year. How much is it worth in 10 years?
a.) Identify the initial amount(a). b.) Growth or Decay? DQ(CL\’

40,000

c.) Growth/Decay Factor (b)
C=\1 1.—>.\Y

- 86
b - \a- X = \ . \\"\ - . %
d.) Exponential Equation (y = a ¢ bx) y = L\O,ODO( 6(03

e.) Original Problem Uni’rs:\ C(krﬁ 0
Find the value of your car after 10 years. —> ﬂ - \-\ 0} 000(_ -3 b}

f.) Value of car after 10 years: %%62 .Qb (Answer needs to be in a complete sentence)

Afder 10 Years 4he Cor is worth $ 88952.0b

A population of 3,000 ducks increases at an annual rate of 3%. How many ducks will there
be inin 15 monthse Answer needs to be in a complete sentence

a.) Identify the initial amount(a). b.) Growth or Decay?2 _(©(0
“5.000
c.) Grow‘rh/Decoy Factor (b)
=2/, —>.0%
b:\-\r——b\‘\'.b’bz \.0% X

d.) Exponential Equation (y = a ¢ b¥) y = /b, 006 ( \ 05

e.) Original Problem Units: itojg

\8/12
Find the number of ducks after 15 months. —> \{ = 3000 (\ ) 033
1S monins = Y5/ years
f.) Number of ducks after 15 months: 3\\ /A (Answer needs to be in a complete sentence)

Alter \5 MONYNS e population pf duchs
\s 312,




A bacteria doubles every hour. There are currently 15 bacteria. How much bacteria will
there be in 45 minutes? Answer needs to be in a complete sentence

by (Dovoles) HSmiavies = :: Roors
b. 2 (Lo

Y=15(2)

%: \5(2\“5/50

Aller LS minvkes dthere will be
2?)7-1 bacterio.

You buy a diamond worth $4,000. It appreciates in value at 4.5% annually. How much will
the diamond be worth in 14 years? Answer needs to be in a complete sentence

r: 4.8/ = .045
bz 14> | +.005= .04

= HO0D (1.0u8)’
\:5 > Y4000 (\ 0\—\‘53“‘ = TH0118

Atter Y 3ears,%he diamond 1S
Workn  $T401.718




Leynab belongs to a super fancy country club. Every spring they have a super fancy
tennis tournament. The tournament starts with 128 players. During each round, half of the
players are eliminated. How many players are left after 5 rounds?

O 128
b: Yz .
%:\1%(%\
L
%:\28(% 5
Atier 5 rounds fnere Oxe
L players left.

Jennainvests $100 in an account that earns 5% interest per year. What is the account
value after 6 months and after 1 yeare

0. 100

b: (=957 ->.05
b=+ = 1%.0%= \.0D

3 100 (1.0%)*

of 13\(\0\ problem uniks: yeors
monkhs = -5 years

) b/iz _ y
\5400(\.05) = 1024 e\ YeOr, Hne

Alier b montns, +he AUt coont Wikl hove
Wil have $102.471 $10%

| yeor
Y= 100(\ -05)\: 109




A population of bunnies started at 50,000 and decreases at a rate of 20% per year. What is
the bunny population after 3 years?

O 50,000
b, =20/ —> .20
bh=\-r=1-.20% .80
Y= 50000(: 80
Origina.) Problem Unids @ Yeors
4= S0000 (. §0)
Aller B years ,4hne popo\oA\on 64
bunnies will be 25L00.

Abdullah bought a super fancy and super-fast car. He paid $30,000 for the car. The car
depreciates at a rate of 8% per year. What will his car be worth in 2 years?

Q. 20000
N =%/ —> .08
b= \-C =\-.0%~ AL
y: 20000 (.42
original Qroblem VNS ; YEars
\5—.?;5,000(.0\2_)1 = A5392.00
Afler 2 years, +he Cor is
wortn - $25,%42.00




